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QUESTION 41Y ou are developing an application. The application includes classes named Mammal and Animal and an interface
named |Animal.The Mammal class must meet the following requirements:- It must either inherit from the Animal class or
implement the lAnimal interface. - It must be inheritable by other classesin the application. Y ou need to ensure that the Mammal
class meets the requirements. Which two code segments can you use to achieve this goal ? (Each correct answer presents a complete

solution. ChOOSQtWO.) [T A abstract class Mammal : IAnimal
}
[T B. sealed class Mammal : IBnimal
}
Sraindump<go.com
" C. abstract class ‘Ia"za_ : Animal
H
" D. sealed class Mammal : Animal
¥

A. OptionAB. OptionBC. OptionCD. Option D Answer: AC QUESTION 42Y ou are debugging an application that
calculates loan interest. The application includes the following code. (Line numbers are included for reference only.)Y ou have the
following requirements:- The debugger must break execution within the Calculatelnterest() method when the loanAmount variable is
less than or equal to zero.- The releasevers on of the code must not be |mpacted by any changes Y ou need to meet the

61 priw ocizal Ixteres aTe

requirements. What should you do’? -

SratndttimpZgo.com

A. Insert the following code segment at tine 05:Debug.Write(loanAmount > 0);B.  Insert the following code segment at line 05:
Trace.Write(loanAmount > 0);C. Insert the following code segment at line 03:Debug.Assert(loanAmount > 0);D.  Insert the
following code segment at line 03: Trace.Assert(loanAmount > 0); Answer: C QUESTION 43Y ou are adding a public method hamed
UpdateGrade to a public class named ReportCard. The code region that updates the grade field must meet the following
requirements:- It must be accessed by only one thread at atime.- It must not be vulnerable to a deadlock situation.Y ou need to
implement the UpdateGrade() method. What should you do?
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A. OptionAB. OptionBC. Option CD. Option D Answer: A QUESTION 44Y ou are developing an application that
includes a class named BookTracker for tracking library books. The application includes the following code segment. (Line numbers
areincluded for reference only.) oz Epris Slee eecriracter o nan e

BookTracker
03 {
o4 List<Bock> books = new List<Book>();
08 public void AddBook(string name, AddBockCallback callback)
{

07 books.kdd (new Book (nams) ]
o8 callback (books.Count) »

. - e o % *
=it I T a i sl a FE g
Dralnaump<go.com
12 public class Runne L =

13 {

14

15 BookTracker tracker = new BookTracker():

1& public vold Add(string name)

Y ou need to add a user to the BookTracker instance. What should you do? ©#  trsest the faliowing code segment at fne 14:
privace static vedd FriscBeockCounc(int 1)
i
Insert the following code segment at kne 18:

AddBookCallback callback = PrintBoakCount;
T 8. Insert the following code segmant at kna 18:
tracker.AddBoock (name, delegate(int i)

e

T C_ Insert thadollowing spde segment at line 13:

:'._'{’": W e T AVl laWadal

2 theidhab LA %A _rs_U=J-_) el ip et (L NN
Insert the following code segment ak line 18;

AddBsakDelegate addDelegate = (BoskTracker] =>

h
adddelegate (Rrackes)

™ 0 Insert the following code segment at line 11:
delegate woid AddBookDelegate{string name, AddBookCallback callbaok)s

Insert the following code segmaernt Bt line 10:

elegate adder = (i, callback) =>

A. OptionAB. OptionBC. OptionCD. Option D Answer: B QUESTION 45Drag and Drop QuestionY ou are implementing
amethod that creates an instance of a class named User. The User class contains a public event named Renamed. The following
code segment defines the Renamed event:Public event EventHandler<RenameEventArgs> Renamed;Y ou need to create an event
handler for the Renamed event by using alambda expression. How should you compl ete the relevant code? (To answer, drag the
appropriate code segments to the correct locations in the answer area. Each code segment may be used once, more than once, or not
at all. You may need to drag the split bar between panes or scroll to view content.)
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uasr.fanamed —= delegace jobject sender, RenamedEventhrgs e}
user.Renamed == (sender, e) =>

user.fenamed += delegate(object sender, RenamedEventirgs &)
user,Renamed <= (sender, =) =>

users(0] = user:

umers, fdd (user)

yages . Inserwiuser) :

e e Tl aTa I Nl s }w'r/r'r ~irsh i
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public void AddUser(string nams)

L

User user = new User(name):
L
Log(“User {0} was renemed to {1}, e.0ldNeme, e.Home):
Ansl\/er |u=e:.itnl=.=d. -= delegate (chbiect sender, FRenamcdEventirga e) |

|ustx,=- aned -= (sender, &) =»

luser,iena:ecl. += delegate (cbject ssnder, RenamedE

venthrgs e) J

[user.Renamed += (sender, ) =»

J

[[(usezs(o] = usex:

[[users.ndd (user)

]
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public void AddUser(string name)
{
User user = new User(name);

l—usex,ienamd += (sendez, &) =>

{

Log("Usez {0} was remamed to {11, &.CldMame, =.Mame):

| users.Add(user);
}

QUESTION 46Y ou are creating a console application by using C#£.Y ou need to access the assembly found in the file named car.dll.
Which code segment should you use? A.  Assembly.Load ();B. Assembly.GetExecutdingAssembly() ;C. this.GetType ();D.
Assembly.LoadFiie("car.dll"); Answer: D QUESTION 47Y ou are developing an application by using C#.The application includes
an object that performs along running process. Y ou need to ensure that the garbage collector does not rel ease the object's resources
until the process completes. Which garbage collector method should you use? A.  WaitForFull GCComplete()B.
WaitForFullGCApproach()C. KeepAlive()D. WaitForPendingFinalizers() Answer: CExplanation: The GC.KeepAlive method
references the specified object, which makes it ineligible for garbage collection from the start of the current routine to the point
where this method is called. The purpose of the KeepAlive method is to ensure the existence of areference to an object that is at risk
of being prematurely reclaimed by the garbage collector.The KeepAlive method performs no operation and produces no side effects
other than extending the lifetime of the object passed in as a parameter. QUESTION 48Y ou are creating an application that manages
information about your company's products. The application includes a class named Product and a method named Save. The Save()
method must be strongly typed. It must allow only types inherited from the Product class that use a constructor that accepts no

parameters. Y ou need to implement the Save() method. Which code segment should you use?

publie statiec woid Save(Product target)

i
1

public static woid Save<T>(T target) where T : Froduct

1

i L

Drainaump<go.con

. public static void Save<TI>(T target) where T : new()
{

1

. public atatic void Save<I>(T target) where T : Froduct,

{
1

A. OptionAB. OptionBC. Option CD. Option D Answer: D QUESTION 49An application includes a class named Person.
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The Person class includes a method named GetData. Y ou need to ensure that the GetData() method can be used only by the Person
class and not by any class derived from the Person class. Which access modifier should you use for the GetData() method? A.
PublicB. Protected internalC. InternalD. PrivateE. Protected Answer: DExplanation: The GetData() method should be private.
It would then only be visible within the Person class. QUESTION 50Drag and Drop QuestionY ou are developing an application that
includes a class named Warehouse. The Warehouse class includes a static property named Inventory- The Warehouse classis

defined by the following code segment. (Line numbers are included for reference only.) ©1 public class Warehouse
02 {

03 static Inventory inventory = null;
04 static object _lock = new object():
05 public static Inventory Inventory
06

=)

2y
4

D.COIM

o}
10
11
12
13 }

prampdump<

}
}

=
— &

return _1nventory.

Y ou have the following requirements:- Initialize the _inventory field to an Inventory instance.- Initialize the _inventory field only
once.- Ensure that the application code acquires alock only when the _inventory object must be instantiated.Y ou need to meet the
requirements. Which three code segments should you insert in sequence at line 09? (To answer, move the appropriate code segments

from the list of code segments to the answer area and arrange them in the correct order.) 01 public class Warehouse

Bull) _imventery = mew
1f i_tmventory == mull)

I 2 0. CoN |

I = = | 1 (_t=vensery == muil)
[12 (_inventory == nutd) _ssvensory = new| | 1nvemvarytys
| inveasoxy i)

_inrentory = m[

02 {

03 static Inventory inventory = null;
04 static object w:ogk = new object():;
05 public static Inventory Inventory
B - : J. :
prafnaump<go.com
09

10 return _inventory;

11 }

12 }

13 }
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